)

| GG PARTS

V2L DATA SYSTEM SUPPORTS

E@
s H F G
LA ®)
N
o . .
E‘ H . E@ FIG
P FIG - | \
» H. @ A
P
. | H F/IG
E ) ) \ |
8 H pely : ”; ;
H Ef%’ w
EE -
HS 2
o E@ LN F/C
H F, y
/ ) .—»ﬁ ) E/?‘ \ F/
E ) F \y\\
@ H .
&
A MNCHRONS
ens
3
) K
¢ & ’y
P 0%
/ y K
[E :
e :
I
’ — |0 vigore dal - Effective from  15-12-202] =e——" =i<




=2arik

KART JAPAN

DATA SYSTEM SUPPORTS

OTK KART JAPAN PRICE LIST

2025/2/1~

Description

A |0083.COAKIT Complete Pl support kit

B |0083.COBKIT 7°-508" -4#%° - PKIT(AIM/UNIPRO) Complete DAKTON - UNIPRO support kit ¥13,900  ¥15,290
c |0083.cocKIT 7 -5 -4ik° - PKIT(ALFANO) Complete ALFANO support kit ¥13,900  ¥15,290
D |0083.COEKIT *-508" -4#° - PKIT(MYCHRONS) Complete MYCHRON 5 support kit ¥10,300)  ¥11,330
E [p.m4as. 0y5Hy MM4(H DY) AB. nut M4 ¥20 ¥22
F  |V.TB4X12 91~ 4x12 TB screw 4x12 mm ¥60 ¥66
G |V.TB4X16 i 9YA9Y1- 4X16(A VIV Y4k - BSTHR) TB screw 4x16 mm ¥60 ¥66
H [R.P.4X8 95— D.4x8 Washer @ 4x8 mm ¥0
I |D.M5AB. nyo1y b M5(F40Y) A.B. nut M5 ¥20 ¥22
J |R.P.5X11 J93%- D.5x11x1mm Washer @ 5x11x1 mm ¥10 ¥11
K |V.TB5X22 " 9I2991- 5X22 TB screw 5x22 mm






